De 2007
Lo 145D
Da. 2660
048660
(372
D.268Y
D 5044
8UL3
#1456
H3A79
De8660

Fuel Fump Barrel
Agaplor for Lelivery Velve Flug
Sontrol Velve |

jut for Control Valve gﬁuu
‘agher for Jontrol V. Guide
Joint Ring for Da |
doint iing for 'agmll-»'a’l Y. Gulfe
Flate for ilumger Spring
Control Volye &

Hut for Cemirel V. Spring

prppererrrrrry

N
E 5

: o

N 1 L = ¢
4 o
e N i



STOCK NO.

H.759
H.760

H.2453
H.2452
H.2451
H.2465
He.2466
H.2454
7595

H.729
H.2086
H.2520

1 Set of Lloyds Spares for Short Voyages.

_DESORIPTION

Valves for Scavenger Pump (Inner)
Valves for Scavenger Pump(Outer)
1 Transfer Valve to consist of :-
Segment for Transfer Valves

End Segment for do

Blank Segment for do

Bolt for Transfer Valves

Nut for Bolt

Transfer Valve

Split Pin for Transfer Valve
Sprayer Complete to HU 2414
Piston Rings (Half Width)
Piston Rings (Full Width)
Piston Pin



-

[

H.1928
7456
n,asa
23593

B-?l’l
H.519
7661
H.520
7663

. H.1060

- 7878

H,1985
i.1312

Ho1877
H,1320

STOCK HO.

e Y088 PoT-Bolts -

ONE SET oF LLOYD: SPARES FOR SHORT VOYAGES.

Cylinder Head Stud

Nuts for Studs

Bolts for large End
ts for Bolta

;78“11&%‘:13 for “atn ertns 51‘/% «End)

7/8" Studs for
1,1/8" Studs for |
7/8" Castle Nute for smu
7/8" lute for Studs (F /¥ End)
1,1/8" GCastle Muts for Studs
Flywheel Coupling Bolts
Slotted Nuts for Bolts

Inter.)

(Seav.End)

Alr Compr. L.P.Suction Velve
Air Compre L.”.Dolivery Valve
Alxr Compr. H.”.Suction 7911'0
Alr Compr. HePJDelivery Yalve

PEF

uamummwnuwss

o o

0
®



A4r CompTe LuPe ?ittﬁn Ring
Air Compr. H.P. Piston Ring
Water pump Valve

Plunge
P

Sprayer Pipes
5/16" Stade
3/8" Studs
7/16" Studs
1/2" Studs
5/8" Studs
3/4" Studs
5/16" Nuts
3/8" Musps

nger Rubber
lunger Fibber

gleAhy



ONi SET QOF LLOYDS SPARES FOR SHORT VOYAGES

STOCK_NO. DESCRIPTION. QTY. PER SET.
7450 7/16" Nuts 24
7451 1/2" Nuts ~ 12
7452 5/8" Nuts 24
7453 3/4" Nuts 6
7706 5/16" Setscrews 8
7710 3/8" Setscreus 12
14011 7/16" Setscrews 8
8785 1/2" Setscrews 6
8002 5/8" Setscrews 6
7715 3/4" Setscrews 3
H.581 Liner Joint Rings i
H.582 Liner Joint Rings i ¢
H,2179 Rubber Ring for Liner g
H.2434 Large End Bearing (Top) 3
H.2435 Large End Bearing (Bott) i




ONE SET OF LLOYDS SPARES FOR SHORT VOYAGES.

PER SET.

§
§

1040 — Koy Por- Fheel

STOCK NO. ESCRIPTION. QTY o
HLi2522 Conn.Rod S.E.Bush i
H.818 Suction Valve Seat : 4
H.819 Yelivery Valve Seat 1
H.2351 Michell Thrust Block Pads 4
H.2355 Michell Trust Block Pad -
H.595 Shins for L.E.Bearings 4
1002 Dowel for L.E.Bearings 4
e 2462 Cylinder-Liner L
: H,773 Crankshaft Gear Wheel 3
ww»wa&ﬁm%%~wm~a»m~m~§R «Sheft Gear-heel - sae
i



